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The verses used in which dances are taken from the Sanskrit play ‘Geet Govindam’?
(A) Manipuri (B) Kathakali
(C) Mohini Attam (D) Odyshi

What are the forms of painting known as ‘Angika kala’ and ‘Nag painting’?
(A) Warli Painting (B) Manjusha Chitrakari
(C) Cherial (scroll) Painting (D) Paitkar Chitrakari

Which of the traditional field sarees and state pairs of India is not correct?
(A) Pochampally - Andhra Pradesh (B) Patola - Patan, Gujarat
(C) Chanderi - Karnataka (D) Nauwari - Maharashtra

By which name was known the famous game ‘Shataranj’ in ancient India?

(A) Ashtapada (B) Chaturang

(C) Atari Pong (D) Sogathabaji

Lunar day and Solar day are called respectively.

(A) Time (UR) and Day (B) Tithi and Nakshatra
(C) Yog and Karan (D) Tithi and day

What is the name of the chariot of Lord Jagannath in the rath yatra of Lord Jagannath?
(A) Taladhwaja (L&AA%) (B) Devadalan (ﬁC{SC-t"l)
(C) Nandighosh (i€laiv) (D) Shreedhwaja (l&1%)

By which name 30 caves near Talaja in Bhavnagar district are known?
(A) Khapara Kodia caves (B) Caves of Mandovar
(C) Caves of Ebhal Mandap (D) Caves of Bava Pyara

On which subject is the legendary book ‘Mitakshara’ written by a scholar named Vigyaneshwar

during the Sultanate era?
(A) Hindi (B) Hindu customs
(C) Poetics (D) Hindu Theology

Rama Shastri was a legendary jurist of whose time among the following?
(A) Madhavrao (B) Balaji Bajirao
(C) Bajirao-Initiative (D) Balaji Vishwanath
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010. Who founded Vithoba in Pandharpur?
(A) Bhakta Pundalik (B) Nivruthinath
(C) Bhakt Gora Kumbhar (D) Swami Namdev

011. Literature named ‘Six Veda Sutras’ and ‘Char Mul Sutras’ are compatible with which religion?
(A) Jainism (B) Brahmanism

(C) Bhagavata Dharma (D) Buddhism

012. Which Englishman first established a trading centre (.‘?lél) at Surat in Gujarat?
(A) Sir Thomas Roe (B) Captain Hawkins
(C) Thomas Aldworth (D) Elphinstone

013. Who started the first English school at Surat?
(A) Jijibhai Chhapagar (B) Dalpatram Bhagubhai
(C) Fardunji Marzban (D) Dadabhai Naoroji

014. Who was the leader who led the 1857 rebellion in Anand of Gujarat?
(A) Mouni Bawa (Moreshwar Ramachandra)
(B) Jaisingh Thakor
(C) Garbaddas
(D) Tatya Tope

015. Who founded the ‘Kathiawadi Political Council’ at Rajkot in 1917 AD?
(A) Dalpatram Bhagavandas Shukla
(B) Divan Pattani
(C) Shri Kalyanrai Bakshi
(D) Mansukhbhai Mehta

016. Which is the longest railway platform in India?
(A) Hubli, Karnataka (B) Gorakhpur, U.P.
(C) Kharagpur, W. Bengal (D) Banspani, Odisha

017. The part of the Himalayas lying between Satluj and Kali rivers is known as
(A) Punjab Himalayas (B) Nepal Himalayas
(C) Kumaon Himalayas (D) Assam Himalayas
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018. What is ‘Mango Shower’?
(A) Shower of mangoes
(B) Winter rain
(C) Pre-monsoon rain in Kerala and Karnataka

(D) Monsoon rain

019. Which scheme was launched from 19 February, 2015 to make farmers aware about the quality of

their soil?
(A) Agricultural Festival Scheme (B) Soil Health Management (SHM)
(C) Mruda Swasthya Card Scheme (D) Soil Health Card (SHC)

020. Copper, zinc, lead and marble are found in which hills?
(A) Hills of Chhotaudepur (B) Rajpipla Hills
(C) Hills of Jessore (D) Hills of Gir

021. Which port in Gujarat is also known as ‘petrochemical port’?
(A) Hajira (B) Dahej
(C) Mundra (D) Pipavav

022. Which of the following is the main feature of ‘mixed farming’?
(A) Agriculture with both cash and food crops
(B) Cultivation of two or more crops in one field
(C) Simultaneous animal husbandry and farm production

(D) None of the above

023. GST is applicable instead of which of the following taxes?
1. Central Excise
2. Professional Tax

3. Service tax

4. VAT
(A) Only 1 and 2 (B) Only 3 and 4
(C)Only 1,3 and 4 D) 1,2,3 and 4

024. Which of the following services can be availed even if the bank is not open?
(A) NEFT (B) RTGS
(C) IMPS (D) All of the above
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Where was started the first Mega Food Park of Gujarat — The Gujarat Agro Infrastructure Mega
Food Park?

(A) Ahmedabad (B) Surat
(C) Gandhinagar (D) Vadodara

Which of the following pairs of important cities and industries is not correct?
(A) Aligarh - Brass locks (B) Pilibhith - Wooden wave
(C) Ranipet - Leather industry (D) Ambala - Sporting goods

Which of the following is included in the Special Investment Regions (SIR)?

1. Ahmedabad — Dholera 2. Valsad — Umargam
3. Vadodara — Ankleshwar 4. Surat — Navsari

5. Bharuch — Dahej

(A)Only 1,2 and 5 (B)Only 1,2 and 3
(C)Only 1,2,3 and 5 (D) All of the above

Which application has been launched to make revenue services easier and faster for the citizens of
Gujarat under the “Revolution in Revenue” programme?

(A) iORA-2.0 (B) FAME-2
(C) e - Dhara (D) BhuNaksha

Global Financial Stability Report is released by whom?

(A) European Central Bank

(B) International Monetary Fund

(C) International Bank for Reconstruction and Development

(D) Organization for Economic Cooperation and Development

Which of the following scorpene class submarine was commissioned into Indian Navy in
January 2023?

(A) INS Karanj (B) INS Kalavari
(C) INS Vagir (D) INS Vela

Which one of the following is correct about ‘Pinaka’?
(A) It is a multibarrel rocket system

(B) It is a type of battle tank

(C) It is an indigenously developed drone system

(D) It is an advanced submarine
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032. What is the name of the world’s first private flight plan to go on the moon?
(A) Moon Express (B) Moon Flight
(C) Chandrayaan (D) Moon Mail

033. The term ‘Probiotic’ is applied to
(A) Organic food (B) Antacid
(C) Live microbial food supplements (D) Antibiotic

034. Greenhouse effect is related to
(A) Collection of greenhouse gases which rise the temperature of atmosphere
(B) Production of flower and vegetables in increased temperature

(C) Production of crop in glasshouse

(D) None of these

035. ELISA test is used to detect
(A) Cancer (B) T.B.
(C) Polio (D) AIDS

036. Which of the following was a popular DOS-based spreadsheet?
(A) Excel (B) Word
(C) SmartCell (D) Lotus 1-2-3

037. Who holds the power to increase the number of judges in the Supreme Court?
(A) Prime Minister (B) President
(C) Parliament (D) Ministry of Law

038. The opposition party status is accorded to a political party in the Lok Sabha only if it gets

at least
(A) 5% seats (B) 10% seats
(C) 15% seats (D) 20% seats

039. The resolution for the removal of the Vice-President of India can be proposed in
(A) Lok Sabha only
(B) Rajya Sabha only
(C) Joint session of Parliament

(D) Any House of Parliament
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040. Rajya Sabha has equal powers with Lok Sabha in
(A) The matter of creating new All India Services
(B) Amending the Constitution
(C) The removal of the government

(D) Making cut motions

041. Archaeological Survey of India is an attached office of the Department/Ministry of
(A) Culture (B) Tourism

(C) Science and Technology (D) Human Resource Development

042. Who was the Chairman of the Provincial Constitution committee of the Constituent Assembly?

(A) Dr. B.R. Ambedkar (B) Pt. Jawaharlal Nehru
(C) Dr. Rajendra Prasad (D) Sardar Vallabhbhai Patel

043. Who is known as the first Law Officer of India?
(A) Chief Justice of India (B) Law Minister of India
(C) Attorney General of India (D) Solicitor General of India

044. Which of the following teams played for the first time in the ICC Men’s T20 World Cup 2024?

1. America 2. Canada 3. Uganda

4. South Africa 5. Bangladesh

(A)Only 1,2 and 3 (B)Only 1,2 and 5
(C)Only 1,3 and 5 (D) Only 1, 2 and 4

045. Ministry of Environment, Forest and Climate Change has been allotted to which Cabinet Minister
in the Cabinet of the 18th Lok Sabha?

(A) Prahlad Joshi (B) Kirtivardhan Sinh
(C) Bhupendra Yadav (D) Ramnath Thakur

046. Recently which museum in Gujarat has received a place in the list of the beautiful museums in the

world under the Versailles award?

(A) Lalbhai Dalpatbhai Museum, AHMEDABAD

(B) Sardar Vallabhbhai Patel National Memorial, AHMEDABAD
(C) Mahatma Gandhi Museum, RAJKOT

(D) Smritivan Earthquake Memorial, BHUJ
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The year of 2025 has been declared by the UN as the international year for what?
(A) Quantum Science and Technology

(B) Neuroscience

(C) Astrophysics

(D) Nanoscience

Which mobile application has been launched by the Securities and Exchange Board of India

(SEBI) to empower investors with global information?
(A) Upstox (B) Saathi 2.0
(C) SaaRthi 2.0 (D) Bloomberg

Which state has recently introduced Artificial Intelligence (AI) learning in the information and

communication technology text book for class 7 students?
(A) Kerala (B) Karnataka
(C) Andhra Pradesh (D) Maharashtra

Which oilseeds crop has been the highest growth under the increase in Minimum Support Price

for Kharif Crops for Marketing Season 2024-25?
(A) Sunflower Seeds (B) Groundnut
(C) Soyabeans (D) Niger seed

Instructions for Q.No. 051 to 054:

10 5
ﬁ of the people in a hall are sitting in E of the chairs available and the rest are standing.

If 20 chairs are vacant, find the number of people sitting and the total available chairs.
(A) 80,100 (B) 100, 120
(O) 220, 240 (D) 110, 120

Find the total number of people present in the hall.
(A) 100 (B) 200
(©) 120 D) 110

If all the people in the hall are sitting, how many chairs would have been vacant?
(A)20 B) 10
(O] (D) None

[BIT] [PT.O. E




054.

05sS.

056.

057.

058.

059.

060.

204 HUSAIHE A AR 30% ulsail GHRAY dl 8 S2dl calsaii slaua e vRsll Adl wi?

(A) 13 (B) 30
(©)23 (D) 36
nad, 20 A5 Avaii-l grar 12 d-l U219 214 9ea ug azrHlL dslad kL.
(A) 19 (B) 39
(C) 40 (D) 41

-\

12 2uia uelalani o Aval 36° 214 ¢72° Al viec vigdl scnl 20d dl uelalag Heu Akl
372+3%X36+6%X5+72+9

(A) 7485 (B) 6765
(C) 3801 (D) 518 L [asey 4l
2
p 731, 30 0L ug AL,
16 512
A) -31 ®B) 31
16384 16384
31° < :
() 5 (D) 516 L [asey 1l
5

-

D2 2uud uetalami o Raudl + 4 — 24 Rl + 4 x ad sigenami 2ud di d uglalddg yeu g wi?

96+12+3 %124
(A) 3020 (B) - 332
(C) 284 (D) - 340

A 20% AAAR €Iy di 97 [Bay usl sul AR ¢ai?

(A) AHAUR (B) HanaR
(C) alfar (D) Aaar
{12 20U s1esH vidl is 2kl

3| 4| 213

4 | 2|35

2 | 3[4 ]©®
(A) 12 (B) 62
©8 D)3
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05S.

056.

057.

058.

059.

060.

If 30% more people turn up, how many would have no chairs to sit?

(A) 13
(©)23

(B) 30
(D) 36

What is the difference between the average of first twenty odd numbers and the last term in

the list?
(A) 19
(C) 40

(B) 39
(D) 41

What will be the value of the given expression if the numbers ‘36’ and ‘72’ are interchanged?

372+-3X36+6X5+72+9

(A) 7485
(C) 3801

-31

(A)

16384

3
© i

512

If “+’is *=, and “+’is *X’, what is the value of 96 + 12 +3 X 12 — 42

(A) 3020
(C) 284

2
Find the next term: 2 __31+ +31

512

Today is Sunday. After 97 days it would be

(A) Monday
(C) Saturday

Find the missing number in the following table

34| 2|13
4 | 213 ]|s
2 [ 34 ]@
(A) 12
(OX:

(B) 6765

(D) None of these

31
16384

(B)

(D) None of these

(B) — 332
(D) — 340

(B) Tuesday
(D) Sunday

(B) 62
(D)3

[BIT]
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061.

062.

063.

064.

065.

066.

M X 8 HlzR Gl 4d & M Y 2™ X 5l 2134 27 2elMH Z M X 52l o1l GlausS u21d 6.
AAM P 2™ Z sl Gl 9. ud ™ A 21 2™ B 52l 45l Qg 4R1d 8. 1A 2uia [Qau-iniall sy
[t w3 ¢is as?

(A) B A1l Gl 2™ 69,

(B) ™M X, Y 241 Z -l Gl -l a3 9 Wl ofl il 69,
(C) ™ P, A ¥4 B ~{l GlansS 0l 13219 15 )l )l 241691 9.
(D) BuRisd WSl 2is ur 1l

s goid Argii-l A e o ALyl % 53 9. €35 AL il gl [BHd A Avami
20l 89, oid dlor-i el aiflA il [Aseu uie s

Aol Az 3s A 3L 3500/~ Hi WIlEL dl 6ll® axd u: % % i Al agHl vldlel u2 % % il
zga

92 HUL@[.
(A) A v B 6iA dig-uHi [Bud uvll 2841 (B) A A%l B ALl Sl Al €9,
(C) B al% -l A Al% -l sl Al €9, (D) i Aigr-url auunell asu 4l

C, A 5 oiuell B3ul 514 53 8 21 B, A sl =12 oell 3udl 511 52 6. B 65 [Rud s1d A 541 20
[Bam add yel 59 a5 €. ol d 1du WA 514 52 dl i o [Rad sl yel s2dai Sean [Ban asi?
(A5 (B) 2.5 (©) 10 (D) 20

—10 9 9 YU o1l yauls Avardl weus ...
(A) 0.5 (B) 0 (©)-05 (D)-0.1

(R 215 AL55AU 6 ALEL ALY U Ul 6 arl W12 Allils 6% 1L s €3 IR tUg 4 adl W2 Allils 9%
Al UL €3 U VUL 6 QUL AHU UYL GUEAL UHAHT ARLS 12% -l €3 GedlL dla. ol Ald =i vid
dBl & 3L 9600/- 1% U2 Yseul S1U dl dQl 524l 254 G Q1) gal?

(A) 12,000/- (B) 16,000/-
(C) 15,360/- (D) 18,000/-

A s ALSSU YRS AvAat-l z»{ami 150% 1l QIR0 UM 2019 27 9EHT 75% il AUIRL SAUML 209, dl
uReud wdl dl 2rymils v, — " 4 3.4 GRS U PRI CIA

12
(A)— (B)—
14
C)— D) —
( )85 ( )34
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062.

063.

064.

065.

066.

Pillar X is 8 m tall, Y is half of X and Z is twice of X. P is taller than Z but shorter than A and B.
Which of the following statements is true?

(A) B is the tallest

(B) The average height of X, Y, Z is greater than 9 m
(C) The average height of P, A, B is less than 15 m
(D) None of these

A shop offers two deals; each deal having items of equal cost. Read the deals carefully and choose
the correct option:

2
Deal-A: Buy one item for Rs. 3500/, second item at a discount of 7 % and the third one at a

discount of % %.

Deal-B: Buy one item for Rs. 3600/-, the second, third and fourth items at discount of 25%, 50%
and 75% respectively.

(A) A and B have the same cost.
(B) Deal-A is cheaper than Deal-B
(C) Deal-B is cheaper than Deal-A

(D) The deals are not comparable

C is twice as fast as A and B is thrice as fast as A and takes 20 days less than A in doing a work. If
all the three of them work together, how many days will they take to complete two such tasks?

(A)S B) 2.5 O 10 D) 20

The mean of all integers from — 10 to 9 is
(A) 0.5 B)0 ©)-05 (D)-0.1

Smita borrows some amount on simple interest at the rate of 6% per annum for the first two years,
9% per annum for the next four years and 12% per annum for the period beyond six years. If she
pays a total interest of Rs. 9600/- at the end of 7 years, what amount she would have borrowed?

(A) Rs. 12,000/- (B) Rs. 16,000/-
(C) Rs. 15,360/- (D) Rs. 18,000/-

If the numerator of a certain fraction is increased by 150% and the denominator is increased by

4
75%., the resultant fraction is —. Find the original fraction.

12 8
A) — B>
( )17 ( )17

14 3
C)— D) —
()85 ®
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067.

068.

069.

070.

071.

072.

073.

25 AvUIL 65% L d AvALl 12% - BHasl dsiad 16960 . dl d Avaiil 72% L [3Hd g u?
(A) 23040 (B) 32000
(C) 24000 (D) 38160

§4 1080 il udauwi [AenelA 135152 Hnaa e i 2491 648 A v FLSA. ol AxA
604.8 2R Horeu Sy dl el Seen 25t ofl udlslse opruey?
(A) 4% (B) 6%
(©) 8% (D) 5%

-

2 2uud uetalad yeu ikl
1

= (9.5*-6.5%)

8

W16 B) 3216
(C) 2} (D) 256

Y

AR 75 et [ MR 2334 3000 2ol Roiy 219U 53 9. w81l d-ll B3UHL 20% L AU WA dl

-

84 Usdl B2daL ¥ AHUHL S2dl At [Reiy 215y 53] asai?
(A) 3300 (B) 3200
(C) 3750 (D) 3600

s aslaze 21.6 (34 uld scusl s3u wusa acudl 218 Aix ol s2di 212l 1 [AA2 20 A.ui s
8. d el A5t kL.

(A) 12000 .3l (B) 10800 .M.

(C) 14400 1.3, (D) 13200 i3l

2129 186 [+l - 2idAl Y153 52 9. Fuidd AL 2idAl Yas wusa g 12 BHl uld saus 33U
21 65 iaR- Yl e gl 72 B ula sausl 33U 52 6. A@d 61U gIRL 524 ¥idR 518 sa?

(A) 174 (301 (B) 120 (3
(C) 150 (3311 (D) 180 (331

A1 31.45,000-D 284 5% -w wel wlls @uy g3 o adl W2 Gl Al duisfl dal RrEK
3L 20,000/~ 4% - WEL RS o €3 219 6udlHl 54 Adldd 7% 0 AL sy €3 6 ad w2
BeSleL 201, U Ad3-2aA3rll UASIRHI dlel- 4A4 51 2iudL vil2 WAl

(A) 151 3L 600/- (B) vil2 3L 600/-
(C) 51 3L 900/- (D) 51 3L 450/-

[BIT] [Contd.



067.

068.

069.

070.

071.

072.

073.

The difference between 65% of a number and 12% of the same number is 16960. What is 72% of

that number?
(A) 23040 (B) 32000
(C) 24000 (D) 38160

In an examination of 1080 marks, a student is supposed to score at least 648 marks to earn a

certificate. If Reema scored 604.8 marks, by what percentage did she lose the certificate?
(A) 4% (B) 6%
(C) 8% D) 5%

The value of the expression

% of (9.5 — 6.5%) is

A) 16 ®)3/216
(©)23 (D) {256

Nirja types an essay of 3000 words at the speed of 75 words per minute. With practice, her speed

enhances by 20%. Find the number of words she would be able to type in the same time as before.
(A) 3300 (B) 3200
(C) 3750 (D) 3600

A cyclist riding at the rate of 21.6 km/hr takes 1 min 20 sec to move around a square garden. Find

the area of this garden.
(A) 12000 m? (B) 10800 m?
(C) 14400 m? (D) 13200 m?

Ajit travelled a distance of 186 km in 3 hours. He travelled partly by a bicycle with a speed of
12 km/hr and partly by a bus with a speed of 72 km/hr. The distance Ajit travelled by bus is

(A) 174 km (B) 120 km
(C) 150 km (D) 180 km

Tirth borrows Rs. 45,000/- at 5% simple interest for two years and lends Rs. 20,000 to Chirag at
4% simple interest and remaining to Atit at 7% simple interest for 2 years. Find his profit / loss in

this transaction.
(A) Profit, Rs. 600/- (B) Loss, Rs. 600/-
(C) Profit, Rs. 900/- (D) Profit, Rs. 450/-

[BIT] [PT.O. m
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074.

07s.

076.

077.

078.

079.

080.

(R : usA . 074 Al 075:

s A55A 4G, Asal& Qo 08 A 512 sl ol AuHI 1. 8,820/- 241 AR QNHI 31. 9,261 M4 .

allils -l €2 k.
(A) 5% (B) 7.5%
(C) 2.5% (D) 6%

BURASd UUAHT 20 HUSAL UL AL SIA HUL 54, AlAL.
(A) 3L. 7,500/- (B) 3L. 7,800/-
(C) 3L. 8,000/ (D) 3L. 8,100/-

[Rga : us . 076 4 077:
215 AHIAR 2ell-il USAL ALd UL ARAUU S USAL IR UEAL ARAUAL 2JRITIR 7:20 8.

oA Alog UE 11 81 dl AL dSlad AL,
A3 (B) 4 ©s (D)2

ARl Guaior 53 200U UE 2 AaHi ueHl RiiTR 2.

(A) 7:15 (B) 15:7

(©)3:1 D) 5:3

25 dpeutR ARl WA ue 625 €. d-l uddlL 9 Uil JRUSIR .......... A,
A)5° (B) 5%

(€)5* (D) 5"

25 yel AvUinl A Ald ad dpeust saill @ ulkeun 1ol d 244 d o yel Avaiql L aumidl 4 eug

5l % uReuH |l d i A1 69, d yel Ava ALkl
A1 B) -1
(©)2 (D) 654 usu -l

60 [Qenell2Ai-u aoiui [Qeneflatiq 1 4l 60 s4is 2uuni 2uc 9. % [Aendlzii-l suis 6idl v 8 dui
AL HRUA 5 89, BHAL $HIS AR ORAUSHE €9 A2 ARl AU 53 €9 S FHAL SHIS AR
RUSHL & Al vedURAL A0 52 9. g [Aenell2Ainisll S2en cuoru [Aenell2Al AR [Quadl xe

52l 8?

1 1
A) — B) —
()12 ()6

4 2
C)— D) =
()15 ()15
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074.

07s.

076.

077.

078.

079.

080.

Directions : Q.No. 074 to 075:

A certain sum when invested on compound interest grows to Rs. 8,820 in 2 years and to Rs. 9,261

in 3 years.

Find the rate of interest per annum.
(A) 5% B) 7.5%
(C)2.5% D) 6%

Find the principal invested.
(A) Rs. 7,500/- (B) Rs. 7,800/-
(C) Rs. 8,000/- (D) Rs. 8,100/-

Directions : Q.No. 076 to 077:

The ratio of the sum of first seven terms of an arithmetic progression to that of the first twelve

terms of the same progression is 7:20.

If the third term is 11, the common difference is

A)3 (B) 4 (O (D) 2

The ratio of nineteenth to ninth term is

(A) 7:15 (B) 15:7 (C) 3:1 (D) 5:3

The fifth term of a geometric progression terms is 625. The product of its first nine terms is
A)5° (B) 5%
(© s (D) 5"

Multiplying the square of an integer by 7 gives the same result as subtracting thrice the integers
from 4. Find the integer.

A1 B)-1

©)2 (D) Doesn’t exist

In a class of 60 students, numbered from 1 to 60, those with even numbers studied English, those

with multiple of 3 studied Mathematics and those with multiple of 4 studied Economics. What

fraction of students studied all the three subjects?

1 1
A) — B) —
()12 ()6

4 2
C)— D) —
()15 ()15

[BIT] [PT.O. m




081.

082.

083.

e

A 2u0ai o Lun ad ordl oasell =il gia dal [Aseu vris s

1. (%ol (Al [¥aolam, xiellva
2. 33[2w, AL, YyaL, g

3. sl 2ilqre, o, [alre

4. vuell, >0, Gonal, Gau

(A) 1, 2,3 211 4 614l % i 69,

(B) $5d 1, 2 2 3 0 69,

(C) $5d 124 2 1l 69,

(D) 55 1034 ©9.

N

2 2utai o Lud ad am-uel aoel [Qa wicu [Asey vris s
1. uaa, 91, wfla, Su

2. §elar, 324, Gaud, Usds

3. eRul, awlR(E, wu, udanw

4. Y, Ag:Aal, 63, UL

(A) $5d 1,2 2 3 UidU 69,

(B) $5d. 1,3 ¢ 4 419U 89,

(C) 55 2 211 4 WY 89,

(D) 1,2, 3 21 4 614 % A2y 89,

N

2 2uuai oa 2un ag [Aygiell aoel [ ulou [Ase uzie s,
1. Rl X Hiell

2. RAMUHS X W{3lcHS

3. 2ufdia x [aRicna

4. afla x 2RIl

(A) $5d 1 211 3 919U 89,

(B) $5d 2 21 4 A12U 69,

(C) $5d 1 211 2 92U 89,

(D) v14i o UoY 89,

[BIT]
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084. 1A 2udan 3[EuaAld U At el W2 Aoy [Asey wrie 52

3leuaia ued

1. 24l % - el slag

2. 21914 A3g - sag

3001 gy el - vRiAd S1H SaL WAL SRa

4. 214 218, Al 524\ o131 HIRdl

(A) $5d 1 11 4 4idU 99,

(B) $5d 1,2 %A 3 Alou 69,

(C) $5d.2,3 v 4 Uidu 89,

(D) 1,2, 3 i1 4 6181 % UidU 69,

085. -1l 20Ul s8adl 24 dril 24 2 4 d- Q9 uioy [Aseu rig s
1. ollcll Glel t1aLEul 81 = Ai=a1fl2 AARHE WBIAH S
2. A £16HL dl 2Ud SBUL = gid sA5A1dIA HEAd 5 dl AR YU
3. & stual g A aunuudly sud = el sl Wizt wou
4. doud a3l A dou el = £35 WRRAMHE aum Al gt
(A) 1,2, 3 211 4 64 % i 69,
(B) 50 2, 3 24 4 1 69,
(C) $5d 3 2 4 14l 69,

(D) 55d 4 04 9.

086. 1A 2uual WHUAS Aot 211 d-i us12 (A9 uioy [Aseu urie s3.

s ave USIR

1. ARAYR - ol uHn

2. Aad- S (- R

3. 20d - wamusdldl xR
4. -el-uy) - AR AN

(A) $5d 11 3 Uidu 89,

(B) $5cl 2 24+ 3 U1y 89,

(C) 1,2,3 211 4 611 % U1y 69,
(D) 1,2, 3 11 4 6181 % ALY 6,
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087.

088.

089.

090.

2 20l 208 [qal uiou [Asey uris s2i.
1. [3 + 2iets = 2o

2.4 + Sa = sllda

3. BulR + B5d = Guysa

4.4 +d =Y

(A) $5d 1241 2 120 89,

(B) $5c 2 24 3 101 89,

(C) $5d 1,3 31 4 120 89,

(D) 1,2, 3 24 4 6141 % w2l 69,

A= 20Ul s1eu-UlsdA L A iql AESIR DA e USIRL ALY, [Asey ue $2U.

‘91l dll A3l Bdll, FUA dl L UH,
gall tH Bg, 8§ ndl [Baw’

(A) Galaw — ey
(B) GUHL — H8R
(C) Blian — un8R
(D) GuaL — Jasidl

A2 200l s1eu-Ulsan A A Bl A S1R 21 9eL UsIR-L 4lu [Asey yrie 53U,

‘10081 2l 8 Avll, 39 seul M,
e 1 sdl Als MR sRalaa.’
(A) QU — A0

(B) 3us —elsz
(C) 3us — R

(D) arilgA — ¢Rolld

A (G0l g @ wioy [asey uie s
(A) d(sd — sHHRY YA

(B) 1Y, + i = GUINRL

(C) 8v A sl AWd %A 838 — 2AN AEsIR

(D) ‘URd &g 269 Wl UH way’. — aidldast e
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091.

092.

093.

094.

09s.

096.

097.

098.

099.

100.

I rested my arms the walls.

(A) on (B) at (C) against (D) in

I shall ring him tomorrow in the afternoon. (Spot the error)

(A) I shall (B) ring him

(C) tomorrow (D) in the afternoon
He is than I expected.

(A) later (B) Latter

(C) letter (D) None

It rain tomorrow.

(A) will (B) should

(C) can (D) may

He said, “The horse died in the night”. (Turn into indirect speech)
(A) He said the horse died in the night.

(B) He said that the horse had died in the night.

(C) He said the horse had been died in the night.

(D) He said that the horse died in the night.

Can you find one-rupee note today?

(A)a (B) an (C) the (D) that

The hand has fingers. (Rewrite the sentence with an adjective of quantity)
(A) The hand has good fingers. (B) The hand has small fingers.

(C) The hand has five fingers.

I have been staying at Gandhinagar 1999.

(A) for (B) since (C) from (D) in
There is sugar in the house. I can’t make tea.

(A) a little (B) little (C) few (D) a few
There are cows grazing in the field.

(A) any (B) many (C) the (D) little

(D) The hand has unequal fingers.

[BIT]
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101.

102.

103.

104.

105.

106.

The most critical growth stage for moisture stress in Cotton
(A) Germination

(B) Branching

(C) Squaring

(D) Ball formation

Hand pollination in sunflower crop gives an increase in the crop yield to the extent of
(A) 35% to 40%
(B) 45% to 50%
(C) 10% to 15%
(D) 18% to 25%

Bench terrace cultivation is practised on slope ranging with undulated land
(A)1-2%

B)3-10%

(©)16-33%

D) >50 %

Cowpea grown for grain and fodder contributes Kg N/Ha. to the succeeding crop
(A) 44 to 50
(B) 34 to 40
(C) 14 to 20
(D) 24 to 30

The coordinate reference system used by GPS is known as
(A) WGS 45
(B) WGS 84
(C) WGS 88
(D) WGS 89

Band selection is one of the important steps in
(A) Remote sensing

(B) Hyperspectral remote sensing

(C) Hydrospectral data

(D) All of the above
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107. Who defined the term Nanotechnology?
(A) Norio Taniguchi
(B) Gerd Binning
(C) Alex Zettl
(D) P.M. Ajayan

108. The concentration of active ingredient in WP formulation of fungicides is
(A) More than 50%
(B) 10%
(C)4-10%

(D) 4 - 6%

109. Fertilizer called rock phosphate contains % nitrogen & % P,0,
(A) 36.5 & 05 (B)26 & 10
(C)16 & 06 (D) 46 & 12

110. Irrigation in gram is recommended at
(A) Early flowering and maturity stage
(B) Late flowering and maturity stage
(C) Early flowering and pod formation stage

(D) Before flowering and pod formation stage

111. Which one is not allowed in organic farming in India?
(A) Using green leaf manuring crops
(B) Using rock phosphate as P source
(C) Using GMO crops

(D) Using bio inoculants

112. Oil content of sesame crop is
(A) 38% to 54%
(B) 25% to 32%
(C) 32% to 38%
(D) 54% to 60%

[BIT] [PT.O. m



113. The germplasm theory was proposed by
(A) Darwin (B) Weismann
(C) Lamarck (D) Mendel

114. DNA synthesis takes place during
(A) GO phase (B) G1 phase
(C) G2 phase (D) S phase

115. More than two copies of the same genome present
(A) Autopolyploid
(B) Allopolyploid
(C) Aneuploid
(D) Euploid
116. DNA sequences that move from one location in a chromosome to another location within the
same/another chromosome is known as
(A) Insertional elements
(B) Transposable elements
(C) Retroposons
(D) Retrovirus

117. Aim at understanding the dynamics of gene and genotype frequencies in random mating population
is known as

(A) Population Genetics
(B) Molecular Genetics
(C) Forward Genetics

(D) Reverse Genetics

118. Sequence of a transcription unit where RNA polymerase binds and initiates transcription is

known as
(A) Promoter (B) Operon
(C) Terminator (D) Structural

119. Dwarfing genes Rht and Rht, are related to
(A) Bajra (B) Sorghum
(C) Rice (D) Wheat

El [BIT] [Contd.




120. Who postulated the ‘Law of homologous series in variation’?
(A) G.J. Mendel
(B) N.I. Vavilov
(C) R.A. Fisher

(D) M..S. Swaminathan

121. The gene-for-gene relationship between a host and its pathogen was postulated by Flor in 1951

based on his work on

(A) Linseed (B) Flax seed

(C) Sesame (D) Both (A) and (B) -

122. At the time of gamete formation, the two alleles present in the F1 separate and pass into different

gametes. This is known as
(A) Hybridization (B) Segregation

(C) Selection (D) Mutation

123. Which of the following is drought-resistance mechanism?
(A) Drought escape
(B) Dehydration avoidance
(C) Dehydration tolerance

(D) All of these

124. Differential reproduction rates of different genotypes is known as
(A) Selection (B) Mutation

(C) Random drift (D) Inbreeding

125. Isolation distance for foundation seed production of onion is
(A) 600 m (B) 300 m

(C) 500 m (D) 1000 m

126. ABR line system is extensively used for hybrid seed production of
(A) Castor (B) Cotton

(C) Pearl millet (D) Potato
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127.

128.

129.

130.

131.

132.

133.

The highest seed replacement rate is of
(A) Synthetic (B) Composite
(C) Variety (D) Hybrid

The crop with highest seed multiplication ratio is

(A) Field pea (B) Sesame (C) Groundnut (D) Soybean

Avoiding outcrossing by keeping the crop in isolation is a very effective tool to maintain genetic
purity of

(A) Self-pollinated crops
(B) Cross-pollinated crops
(C) Often-pollinated crops
(D) All of these

Exposure of seeds to gaseous form of harmful chemicals to control seed-borne fungi and insects to
control deterioration of seed during storage is known as

(A) Halogenation (B) Fumigation
(C) Pelleting (D) Invigoration

Roughing is a very effective tool to maintain genetic purity of
(A) Self-pollinated crops

(B) Cross-pollinated crops

(C) Often-pollinated crops

(D) All of these

Milo cytoplasm & kafir genome are used in hybrid seed production in
(A) Safflower (B) Onion
(C) Sorghum (D) Castor

1. Seed Replacement Ratio is a measure of how much of the total cropped area was sown with
certified seed in comparison to farm saved seeds.

2. Varietal Replacement Rate is the rate at which the replacement of varieties presently in
cultivation with new varieties.

(A) Both 1 and 2 are Correct
(B) Both 1 and 2 are Incorrect
(C) Only 1 is Correct

(D) Only 2 is Correct
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134. Seed multiplication ratio of Groundnut is
(A) 1:40 (B) 1:20
(O)1:10 D) 1:8

135. Bhindi foundation seed production needs an isolation distance of
(A) 100 meters
(B) 200 meters
(C) 400 meters
(D) 1000 meters

136. Maintenance of parental Line-A by using

(A) R - Line (B) B - Line -

(C) A - Line (D) D - Line
137. are the right of an individual to derive benefits from his intellectual property and to
exclude others from doing so.
(A) Plant Breeders Rights
(B) PVP & FR
(C) Intellectual Property Rights
(D) PVA

138. Period for protection of varieties given in Plant Breeders Rights
(A) 15 years (B) 25 years
(C) 35 years (D) 10 years

139. Row ratio for Female and Male in castor hybrid seed production
(A) 2:1
(B) 3:1
(O) 8:1
(D) 6:2

140. Chemical required for hybrid seed production of rice is
(A) Urea
B) GA3
(CO)GA6
(D) NAA
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142.

143.

144.

145.

146.

147.

GOT is conducted for

(A) Germination per cent
(B) Physical purity per cent
(©) Genetic purity per cent
(D) Moisture per cent

Genetic purity of varieties is deteriorated by
(A) Microorganisms (B) Outcrossing

(C) Weeds (D) Insects

As per Indian minimum seed certification standard, the germination per cent for paddy is
(A) 75% (B) 80%
(C) 90% (D) 70%

Seed of the varieties eligible for certification shall be
(A) Identified by the respective workshop of the crop
(B) Released by CVRC

(C) Notified under Section 5 of the Seeds Act 1966
(D) Protected under PPV and FR Act 2001.

Epigeal germination is observed in
(A) Green gram (B) Wheat
(C) Sorghum (D) Pearl millet

Sample drawn from different bags of a seed lot is known as
(A) Secondary sample

(B) Submitted sample

(C) Primary sample

(D) Working sample

A specified quantity of processed seed of a variety and class produced by a grower is known as
(A) Farmers seed

(B) Processed seed

(C) Seed lot

(D) Seed sampling
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149.

150.

151.

152.

153.

154.

The main objective of field inspection is to examine
(A) Disease incidence

(B) Isolation distance

(C) Off types

(D) All of the above

Removal of off-type plants of the same species

(A) Uprooting

(B) Disassortment

(C) Selection

(D) Roguing

Inability of a viable seed to respond the favourable environmental conditions for germination is
known as

(A) Dead seed (B) Dormancy

(C) Resting seed (D) Non-viable seed

Seed property, which determines the potential for rapid, uniform emergence and development of
normal seedlings under a wide range of field conditions is known as

(A) Seed potential (B) Seed health
(C) Seed vigour (D) Seed quality

A farmer interested in certified seed production has to get registered with
(A) Seed Certification Agency

(B) University

(C) Seed Corporation

(D) State Department of Agriculture

Minimum number of seeds tested for germination is
(A) 400 (B) 100
(C) 300 (D) 200

The operation that prepares a seed lot for basic cleaning
(A) Pre-conditioning (B) Pre-taming
(C) Pre-cleaning (D) Grading
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155. Topmost screen of a seed cleaner/grader with larger hole than the desirable seed size to remove the
inert matter of larger size than the seed is known as

(A) Debearder (B) Aspirator
(C) Scalper (D) Grader

156. Study of soil from stand point of higher plants is called
(A) Edaphology
(B) Pedology
(C) Petrology
(D) Geology

157. The total surface area of soil colloids with external and internal surfaces ranges

from mz/g
(A)1to8 (B) 10 to 80
(C) 10 to 800 (D) 100 to 800

158. Example for orthosilicates is
(A) Quartz
(B) Micas
(C) Olivine
(D) Feldspar

159. On the basis of silica content, granite is an example of which type of rock?
(A) Acid
(B) Sub-acid
(C) Sub-basic
(D) Basic

160. Matric potential of soil is measured by
(A) Hygrometer (B) Psychrometer

(C) Potentiometer (D) Tensiometer

161. The luster of mineral talc is
(A) Waxy (B) Earthy
(C) Pearly (D) Resinous
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162.

163.

164.

165.

166.

167.

168.

169.

Root development is stimulated due to the supply of
(AN

B)P

OK

(D) Ca

Critical soil test level approach was given by
(A) Cate and Nelson

(B) Arnon and Stout

(C) Larsen

(D) Bray

The water is not safe to use if RSC value of the water exceeds
(A) 2.25 meq/L (B) 2.5 meq/L
(C) 2.0 meq/L (D) 5.0 meq/L

Which nutrient is essential for improving resistance to pest and diseases in plants?
(A) Ca (B) Mg
©OK (D) Mo

In India which soils have high base exchange capacity?
(A) Red soils

(B) Deep black soils

(C) Laterite soils

(D) Alluvial soils

The soils are strongly calcareous, if they contain how much percent of CaCO,?

(A) <5% (B) >10% (©) >15% (D) >20%

The basal segment of insect leg is called as
(A) Trochanter (B) Coxa
(C) Femur (D) Tibia

The outermost part of insect integument is called
(A) Epicuticle (B) Endocuticle
(C) Exocuticle (D) Procuticle
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171.

172.

173.

174.

175.

176.

177.

When the eggs of insects develop without fertilization it is called
(A) Oogenesis (B) Paedogenesis
(C) Parthenogenesis (D) None of these

Which one of the following is monophagous pest of rice?
(A) Rice hispa (B) Rice gall midge
(C) Rice leaf folder (D) Yellow stem borer

White grub adult beetle lays eggs

(A) Near the roots at the base of ground
(B) On the upper side of the leaves

(C) Singly in soil up to a depth of 10 cm
(D) On the floral parts

In cotton, severe infestation results in curling of leaves, stunted growth and gradual drying and
death of young plant is characteristic symptoms of

(A) Aphid (B) White fly
(C) Bollworm (D) Leaf hopper

Yellow vein mosaic virus disease in okra is transmitted by
(A) Aphid (B) White fly
(C) Thrips (D) Plant hopper

Pest of potato attacks the tuber both in the field and in storage
(A) Potato tuber moth (B) Cutworm
(C) Aphids (D) Beetle

The black-headed caterpillar is a pest of
(A) Coconut (B) Coffee
(C) Rubber (D) Citrus

Diamondback moth is a pest of
(A) Cucurbits

(B) Pulses

(C) Crucifers

(D) Fruit crops
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178. Which of the following bee is bigger in size to other bees?
(A) Apis florea
(B) Apis millifera
(C) Apis dorsata
(D) Apis cerana

179. Silk is produced by
(A) Adult moth (B) Cocoon
(C) Larva (D) Adult moth and larva

180. Deductive method of Economic investigation is also known as

(A) Analytical method

(B) Historical method
(C) Empirical method
(D) Posterior method

181. The RRB was established based on the recommendations of which committee?
(A) Narasimham (B) Nariman

(C) V.N. Rao (D) Dr. D. R. Gadgil

182. District credit plan of a district is prepared by
(A) NABARD (B) Lead bank
(C) Cooperative bank (D) Commercial bank

183. IBRD, IMF, IDA and IFC are collectively known as
(A) World Bank Group
(B) WTO
(C) NABARD
(D) RBI

184. A strategy in which a marketer uses already successful brand name to launch new products is
(A) Product line
(B) Brand symbol
(C) Line extension

(D) Brand extension
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186.

187.

188.

189.

190.

Which one of the following statements is not correctly matched?
(A) Stage 11 ends when TPP is maximum and MPP is zero

(B) At stage 111 MPP is equal to APP

(C) Stage I ends when APP is maximum

(D) When MPP has crossed zero point it becomes negative

In peasant farming the owner of the land is
(A) Non-Governmental Organization

(B) Cooperative society

(C) Government

(D) Farmer

What is/are the advantage/advantages of implementing the ‘National Agriculture Market’scheme?
1. It is a pan-India electronic trading portal for agricultural commodities.

2. It provides the farmers access to nationwide market, with prices commensurate with the quality
of their produce.

(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

In India, official poverty lines are higher in some States than in others because
(A) Poverty rates vary from State to State

(B) Price levels vary from State to State

(C) Gross State Product varies from State to State

(D) Quality of public distribution varies from State to State

Inflation is measured by
(A) CPI

(B) WPI

(C) Both (A) and (B)
(D) None of these

If marginal product is more than marginal cost, then further investment in production is
(A) Profitable (B) Harmful
(C) No effect (D) Uncertain
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192.

193.

194.

195.

196.

197.

198.

Overhead cost is also called as

(A) Variable cost (B) Average cost

(C) Fixed cost (D) Marginal cost

A strong man can develop a maximum power of about for doing farm work.
(A) 0.5 hp (B) 0.1 hp

(©) 0.2 hp (D) 0.3 hp

When the cycle is completed in one revolution of the crankshaft, it is called
(A) Four-stroke cycle engine

(B) Two-stroke cycle engine

(C) Both (A) and (B)

(D) None of the above

Disc angle of good plough varies between
(A) 15° and 45° (B) 15° and 25°
(C) 42° and 45° (D) 40° and 42°

The procedure of testing the seed drill for correct seed rate is called
(A) Calibration of seed drill (B) Seed Drill

(C) Seed metering mechanism (D) Seed-cum-fertilizer drills

is the process of converting solid or liquid into a gaseous fuel without leaving any solid
carbonaceous residue.

(A) Biomass (B) Gasification
(C) Hydrolysis (D) Payrolysis

The methane percentage inside the biogas is
(A) 55 to 65 (B) 30 to 40
(C)10to 20 (D)1to10

Removal of moisture from grain and other product to pre-determined level is called
(A) Drying (B) Dehydration
(C) None (D) Both
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200.

201.

202.

203.

204.

205.

The minimum wind speed of is considered to be useful for working windmill for agriculture
purpose

(A) 08 km per hour (B) 09 km per hour

(C) 10 km/hr (D) 11 km per hour

The light intensity is measured by the international unit known as
(A) Lux (B) Amperes
(C) Lumens (D) None of the above

The LSU dryer was first developed at the Luisiana State University Baton Rouge, USA in

(A) 1947 (B) 1948

(C) 1949 (D) 1950

Metric chains are usually made in the length of meters and meters
(A) 10 and 15 (B) 10 and 20

(C) 20 and 25 (D) 20 and 30

Community-based watershed development programme in India was initially undertaken by the
Government of India with the launch of

(A) National Watershed Development Programme for Rainfed Areas
(B) Drought-prone Area
(C) Desert Development Programme

(D) Flood-prone Rivers Project

The Bordeaux mixture was first time used for the control of
(A) Downey mildew of grape vines

(B) Powdery mildew of pea

(C) Root rot of beet

(D) Damping of pea

Late blight of potato is the best example for
(A) Endemic disease

(B) Epidemic disease

(C) Epiphytotic disease

(D) Pandemic disease
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207.

208.

209.

210.

211.

212.

213.

214.

Big bud of tomato is caused by
(A) Spiroplasma (B) Mycoplasma
(C) Virus (D) Viroid

Viroids were discovered by
(A) Diener (B) Prusiner
(C) Doi (D) Kassanis

Phyllody disease of sesamum spread by
(A) Leaf hopper (B) Jassid (C) Aphid (D) Whitefly

Which one of the following is not a copper fungicide?
(A) Copper oxide

(B) Copper hydroxide

(C) Copper nitrate

(D) Copper ammonium carbonate

Local and systemic infection is seen in
(A) White rust of crucifers (B) Late blight of potato
(C) Coffee rust (D) Rice blast

Karathane is a

(A) Fungicide (B) Insecticide (C) Nematicide (D) Bactericide

Bunchy top of Banana is spread by
(A) Nematodes (B) Fungi (C) Whitefly (D) Aphid

Practical and feasible method in managing soil-borne diseases is through
(A) Chemotherapy (B) Crop rotation
(C) Biological control (D) None of the above

Rust of coffee is caused by
(A) Cephaleuros mycoidea
(B) Erysiphe cichoracearum
(C) Hemileia vastatrix

(D) Sphaerotheca fuliginea
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216.

217.

218.

219.

220.

221.

222.

223.

Exclusion of plant disease by legislation is known as
(A) Plant quarantine (B) Disease resistance

(C) Biological control (D) Cultural control

Which crop is used for extraction of gum?
(A) Cowpea (B) Cluster bean
(C) Pea (D) French bean

Family of Sweet Potato is
(A) Convolvulaceae (B) Compositae

(C) Cucurbitaceae (D) Solanaceae

Edible part of Brussels sprout is
(A) Bulb (B) Root (C) Sprouts (D) Tuber

Which is the economical plant part of Clove?
(A) Flower bud

(B) Fruit

(C) Unopened flower bud

(D) Seed

Which is a powerful antioxidant in tomato, involved in reducing the risk of cardiovascular diseases
and some types of cancer?

(A) Carotene (B) Organic acid (C) Lycopene (D) Canavanine

Potassium metabisulphite can be used as a preservative in which of below fruit juices?
(A) Phalsa (B) Pineapple

(C) Pomegranate (D) Strawberry

Tapping is maturity indices of which of the crops below?
(A) Grape (B) Pineapple
(C) Papaya (D) Watermelon

In Lye peeling which chemical is used?
(A) K,SO, (B) NaOH
(C) KOH (D) All of these
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224. Which of the below is not an Intermediate Moisture Product?
(A) Jam (B) Jelly
(C) Marmalade (D) Nectar

225. Syphoning off the fermented wine to separate it from the solid deposits is known as
(A) Racking (B) Maturation

(C) Fermentation (D) Fining

226. A shoot that develops from an adventitious bud on a root and grows vertically is known as
(A) Runner (B) Bulb
(C) Sucker (D) Stolon

227. Fig has which type of fruit?
(A) Syconus (B) Pome
(C) Berry (D) Nut

228. Marthandam project was started by
(A) F. L. Brayne (B) Spencer Hatch
(C) R. N. Tagore (D) None of these

229. The place where Gandhiji started his Sewagram project
(A) Rajkot (B) Wardha
(C) Gwalior (D) Pohri

230. Firka Development Project was started by

(A) Madras State Govt. (B) Public

(C) Gandhiji (D) None of these
231. Family is an example of group

(A) Primary (B) Secondary

(C) Formal (D) Voluntary
232. is the science of human relationships

(A) Physiology (B) Sociology

(C) Anatomy (D) Astrology
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234,

235.

236.

237.

238.

239.

240.

241.

Doctor is a type of leader
(A) Political (B) Functional
(C) Lay (D) Traditional

is the arrangement of individual or groups of people into hierarchically arranged strata
in a community

(A) Class (B) Social stratification
(C) Religion (D) Mores

1.Q. level of Idiot people is
(A) 50-100 (B) 100-150
(0) 25-50 (D) 0-25

is bringing desirable change in human behaviour
(A) Learning (B) Teaching
(C) Education (D) Training

Intensive Agricultural District programme was started in the year
(A) 1975 (B) 1968
(C) 1961 (D) None of these

is a physical bridge between sender and receiver
(A) Message (B) Channel
(C) Feedback (D) Source

Innovators are also knows as
(A) Deliberate (B) Respectable
(C) Venturesome (D) Skeptical

In which type of agreement royalty is paid on the basis of total sale?
(A) Mining (B) Patent
(C) Copyright (D) Licensing

When did the World Trade Organization come into effect?
(A) January 1, 1995 (B) March 6, 1996
(C) February 5, 1994 (D) April 8, 1994
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244.

245.

246.

247.

248.

249.

Headquarters of the WTO is located at
(A) New York
(C) Austria

(B) Washington DC
(D) Geneva

What is the dual right under PPV & FR Act, 2001?

(A) Only for the variety.

(B) One is for the farmer and the other is for the breeder.

(C) One is for the variety and the other is for the farmer.

(D) Only for the breeder.

Plant breeders’ rights (PBR) gives exclusive control to a plant breeder over which one of the

following materials?
(A) Seeds
(C) Harvested products

(B) Cuttings
(D) All of the above

What is the term of copyright for an author of a book?

(A) 100 years
(C) The life of author plus 60 years

(B) The life of the author
(D) The life of author plus 10 years

The headquarter of PPV & FR is located at

(A) Hyderabad
(C) Bangalore

(B) New Delhi
(D) Lucknow

Which of the following is not an intellectual property law?

(A) Customs Act, 1962
(C) Patent Act, 1970

(B) Trademark Act, 1999
(D) Design Act, 2000

Which country possesses maximum number of Patents in the world?

(A) USA
(C) India

(B) Japan
(D) China

Seed produced by registered seed growers under the supervision of Seed Certification Agency,
which is certified by a blue colour (Shade ISI No. 101, azure blue) certificate is of

(A) Certified seed
(B) Foundation seed
(C) Registered seed
(D) Breeder seed
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251.

252.

253.

254.

258S.

256.

257.

Who advises the Central Government and the State Governments on matter arising out of the
administration of the Seed Act?

(A) State Seed Committee (B) University
(C) Central Seed Committee (D) ICAR

Protection of Plant Varieties and Farmers’ Rights Act, was enacted in the year
(A) 1999 (B) 2001
(C) 2000 (D) 2005

A competitive inhibitor of an enzyme is
(A) Structurally similar to enzyme

(B) Functionally similar to enzyme

(C) Functionally similar to substrate

(D) Structurally similar to substrate

The C4 pathway in plants is also known as
(A) Calvin cycle (B) Hatch-Slack pathway
(C) Krebs cycle (D) Pentose phosphate pathway

Which process primarily occurs in mitochondria and responsible for breakdown of fatty acids
into acetyl Co-A?

(A) Lipogenesis (B) Beta oxidation
(C) Ketogenesis (D) Fatty acid synthesis

What is the primary function of the lac operon in bacteria?
(A) DNA replication (B) Protein synthesis
(C) Lactose metabolism (D) Cell division

The substrate for restriction enzyme is
(A) Single-stranded RNA

(B) Partially double-stranded RNA
(C) Cell wall proteins

(D) Double-stranded DNA

Which of the following is best suitable method for the production of virus-free plant?
(A) Embryo culture (B) Meristem culture
(C) Ovule culture (D) Anther culture
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260.

261.

262.

263.

264.

265.

Name the first transgenic virus resistance plant?
(A) Rice (B) Cotton
(C) Tobacco (D) Tomato

ADP from ATP and NAPD from NADPH are regenerated in
(A) Hill reaction (B) Calvin cycle

(C) Photolysis of water (D) Photorespiration

The term ‘vitamin’ was introduced by
(A) Funk (1912)

(B) Berzelius (1938)

(C) Bloor (1943)

(D) Watson and Crick (1953)

Oxidative phosphorylation is found in

(A) Nucleus (B) Cytoplasm
(C) Chloroplast (D) Mitochondria
M. Meselson and F.W. Stahl (1958) scientists related to of DNA replication.

(A) Conservative method
(B) Semi-conservative method
(C) Dispersive method

(D) Semi-dispersive method

Which fungi group forms arbuscules in plant root?
(A) Ascomycota (B) Basidiomycota

(C) Deuteromycota (D) Glomeromycota

Rhizobium forms an association with which non-leguminous plant?
(A) Parasponia (B) Wheat
(C) Tomato (D) None of these

Microorganisms convert organic phosphorus into inorganic phosphate through a process
(A) Phosphorylation (B) Mineralization

(C) Immobilization (D) Nitrification
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266. Which of the following compounds is used as flavour enhancer in food industry and first amino

acid to be produced industrially?
(A) L-Aspartate (B) L-Cystine

(C) L-Glutamate (D) L-Lysine

267. Which one of the following microorganisms is used to detect the presence of mercury in soil

samples?
(A) Bradyrhizobium (B) E. Coli
(C) Xanthomonas (D) None of the above

268. Which one of the following is an example of ssDNA virus?
(A) Cauliflower mosaic virus (B) Maize streak virus

(C) Wound tumor viruses (D) Cucumber mosaic virus

269. Transfer of genetic material from the donor to recipient bacterium through cell contact is

termed as
(A) Transduction (B) Recombination
(C) Conjugation (D) Transformation

270. Nagaland mountains are becoming increasingly barren mountains mainly due to
(A) Insurgency (B) Urbanization

(C) Shifting Cultivation (D) Rapid population growth

271. What is the primary cause of the depletion of ozone layer?
(A) Carbon monoxide (B) Chlorofluorocarbons

(C) Nitrous oxide (D) Methane

272. Forest Conservation Act was passed in

(A) 1980 (B) 1988 (C) 1927 (D) 1950

273. Which one of the following air pollutants can cause cancer?
(A) Carbon monoxide (B) Sulphur dioxide

(C) Nitrogen dioxide (D) Hydrocarbons
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274. Eutrophication is primarily caused by excessive levels of which nutrients in water bodies?
(A) Oxygen and carbon dioxide
(B) Calcium and magnesium
(C) Nitrogen and phosphorus

(D) Sodium and potassium

275. An Agroforestry system which integrates tree with honey production is called as
(A) Silviapiary (B) Agro-silvopastoral
(C) Mixed woodlots (D) Aquaforestry

276. Which plant part of Rauwolfia serpentina has medicinal value?

(A) Leaves (B) Root (C) Flower (D) Fruit

277. World Bee Day is celebrated on

(A) 20™" May (B) 20™ April (C) 23" May (D) 21° April
278. state has ranked first in the State Food Safety Index 2023.

(A) Kerala (B) Andhra Pradesh

(C) Maharashtra (D) Orissa
279. Assam has launched an App to plant 1 crore samplings.

(A) Amrut Brikshya Andolan
(B) Amrut Jal Andolan

(C) PM Jal Andolan

(D) PM Brikshya Andolan

280. Mukhya Mantri Khet Surakhsha Yojana to be implemented in which state?
(A) Gujarat (B) Haryana
(C) Uttar Pradesh (D) Rajasthan

281. PM-PRANAM programme is initiated with an objective to
(A) Sell Maximum Desi Products
(B) Minimize chemical fertilizers & promote organic farming
(C) Promote sericulture in India

(D) Maximise the seed imports into India.
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282. Recently, NBRI has launched a lotus variety named which blooms in all seasons.
(A) Bharat 108 (B) Kamal 108
(C) Namoh 108 (D) Jeevan 108

283. Recently, Kangra Tea of which state has received the European GI tag?

(A) Kerala (B) Himachal Pradesh
(O) Sikkim (D) Karnataka
284. Pradhan Mantri Matsya Sampada Yojana (PMMSY) aims to enhance sector.
(A) Agriculture B)IT
(C) Fishery (D) Mining

285. Which country has the largest consumption of pulses?
(A) USA (B) Brazil
(C) India (D) Russia
286. Union Home Minister & Minister of Cooperation has inaugurated India’s first IFFCO Nano DAP
plant in which state?
(A) Gujarat (B) Maharashtra

(C) Shimla (D) Jharkhand

287. In order to develop the soil fertility map, Government of India has decided to conduct
Soil Samples across the country during 2023-24 to 2025-26.

(A) 2 crores (B) S crores

(C) 7 crores (D) 3 crores

288. The Government has recently approved a Central Sector Scheme for providing drones to the
Women Self Help Groups (SHGs) which is

(A) NAMO DRONE DIDI (B) PM DRONE
(C) PM KISAN DIDI (D) PM DRONE SAKHI
289. First Krishi Vigyan Kendra was established at under the administrative control of TNAU.
(A) Pondicherry (B) Pantnagar
(C) Lakshadweep (D) Madurai
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291.
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293.

294.

295.

Full form of TRYSEM is

(A) Training of Rural Young for Self Education
(B) Testing of Rural Youth of Self Education

(C) Training of Rural Youth for Self Employment

(D) Teaching of Rural Youth for Self Education

Kisan Credit Card Scheme was recommended by
(A) Balvant Rai Mehta Committee

(B) Gadgil Committee

(C) R.V. Gupta Committee

(D) K.C. Mehta Committee

Recently, which organization announced Rs 750-crore ‘AgriSURE’ fund to promote innovation in

agriculture?
(A) NABARD (B) ICAR
(C) NITI Aayog (D) Ministry of Agriculture

Which organization recently released the ‘Statistical report on value of output from agriculture
and allied sectors (2011-12 to 2022-23)’?

(A) National Bank for Agriculture and Rural Development
(B) National Statistics Office
(C) Food Corporation of India

(D) Ministry of Agriculture

Recently, the Ministry of Skill Development and Entrepreneurship collaborated with which

country to energise agriculture sector of India with emerging skills?

(A) Canada (B) New Zealand

(C) Australia (D) China

Indian Agriculture Research Institute has demanded legal action against which country for
cultivating basmati varieties protected in India?

(A) Afghanistan (B) Pakistan

(C) Myanmar (D) Bangladesh
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Recently, which country has been elected as the first Vice-Chair of the Food and Agriculture
Organization’s (FAO) Committee on Fisheries (COFI) Sub-Committee on Fisheries Management?

(A) Argentina (B) India
(C) Myanmar (D) Bhutan

What is the primary aim of the PM Kisan Nidhi scheme, recently seen in news?
(A) To provide education to farmers’ children

(B) To supplement financial needs of land-holding farmers families

(C) To offer health insurance to farmers

(D) To provide employment to farmers

Which two ministries signed an MoU on ‘Krishi Sakhi Convergence Program (KSCP)’, recently
seen in the news?

(A) Ministry of Agriculture and Farmers Welfare and the Ministry of Rural Development
(B) Ministry of Home Affairs and the Ministry of Jal Shakti

(C) Ministry of Urban Development and the Ministry of Health and Family Welfare

(D) Ministry of Jal Shakti and the Ministry of Rural Development

Decision Support System (DSS), recently seen in news, is discovered by which institutional
organization?

(A) Indian Institute of Tropical Meteorology (II'TM), Pune
(B) Indian Institute of Science (IISc), Bengaluru

(C) Indian Institute of Management (IIM), Lucknow

(D) Saha Institute of Nuclear Physics

Ministry of Agriculture and Farmers Welfare has launched a new campaign titled under
Agri Infra Fund (AIF) to provide all round financial support to farmers and agri entrepreneurs
to provide post-harvest management infrastructure and build community farming assets.

(A) Bharat (B) Nawa Bharat
(C) Amrit Bharat (D) Skill India
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